CALCULATING ROYALTY DISTRIBUTION

 

 

Royalty funds shared between VA and affiliates are calculated based on the employee status of the inventors; that is whether the inventor is full-time VA, full-time affiliate, or holds a dual appointment (DAP) at both institutions.

 

Example One:

 

Two employees jointly develop intellectual property where one inventor is full-time VA and one inventor is full-time affiliate the royalty split would be 50% VA and 50% affiliate.

· 100%/2 full-time employees = 50% per full-time employee

· 1 (full-time VA employee) x 50% = 50%

Example Two:

 

Two employees jointly develop intellectual property where one employee is full-time affiliate and one is DAP the royalty split would be 75% affiliate and 25% VA.

 

· 100%/2 employee inventors = 50% per employee inventor
· 1 (full-time affiliate employee) x 50% = 50%
· 1 DAP x 50% = 50%/ 2 (DAPS are split 50/50) = 25% 
· 50% + 25% = 75% to Affiliate
 

Example Three:

 

Five employees jointly develop intellectual property where four employees are full-time affiliate and one is DAP the royalty split would be 90% affiliate and 10% VA.

 

· 100%/5 employee inventors = 20% per employee inventor
· 4 (full-time affiliate employees) x 20 % = 80%
· 1 DAP x 20% = 20%/2 (DAPS are split 50/50) = 10% 
· 80% + 10% = 90% to Affiliate
 

